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Questionl:-When a loop of one thread passes through the loop of the same thread

during sewing is called
A:-Interlacing
B:-Interfacing
C:-Intralooping
D:-Interlooping
Correct Answer:- Option-C
Question2:-It is a screw that is tightend to hold the needle in position
A:-Needle
B:-Needle clamp
C:-Presser foot
D:-Tension disc
Correct Answer:- Option-B

Question3:-Length of a stitch determined by the movement of the feed dog is
known as

A:-Stitch per inch

B:-Stitch length

C:-Strand

D:-Twist per inch

Correct Answer:- Option-B
Question4:- controls the length of the stitch.

A:-Presser foot

B:-Presser foot lifter

C:-Stitch regulator

D:-Tension disc

Correct Answer:- Option-C
Question5:-The function of feed dog is to

A:-Control length of the stitch



B:-To give motion to the needle
C:-It control the motion of the machine
D:-Helps to move material forward while sewing
Correct Answer:- Option-D

Question6:-What is the remedy fabric puckering?
A:-Fix the stitch length accurate to the fabric
B:-Oil and clean periodically
C:-To remove excess oil
D:-Bobbin too full
Correct Answer:- Option-A

Question7:- appears as slanting stitches on the wrong side and small
at right ride.

A:-Running stitch

B:-Back stitch

C:-Hem Stitch

D:-All of these

Correct Answer:- Option-C

Question8:-Which permanent stitch is strong and sometimes substituted thin
machine stitching?

A:-Pick stitch

B:-Over casting

C:-Hem stitch

D:-Back stitch

Correct Answer:- Option-D
Question9:-Find the odd one out

A:-Even Basting

B:-Padding stitch

C:-Tailors tack

D:-Back stitch

Correct Answer:- Option-D
Question10:-Thambour Embroidery is similar to

A:-Kanta work

B:-Aari work

C:-Kasuthi work

D:-Chikankari work

Correct Answer:- Option-B



Questionl1l:-Rumal is persion word which means
A:-Kerchief
B:-Flower work
C:-Bagh
D:-None of these
Correct Answer:- Option-A
Questionl2:- hold the thread in position from the spool to the needle.
A:-Spool pin
B:-Thread guide
C:-Thread take up lever
D:-Face plate
Correct Answer:- Option-B
Questionl13:-A sharp slender instrument for making hole in cloth is
A:-Bodkin
B:-Hole punch
C:-Revolving hole punch
D:-Snepper
Correct Answer:- Option-A

Question14:-Which tool is used for rounding off button eyes or draw string holes
and for pulling out threads?

A:-Stitch cutter

B:-Hole punch

C:-Bodkin

D:-Awl

Correct Answer:- Option-D
Questionl5:-Rounded needles are used for

A:-Finer material

B:-Coarse material

C:-Finer and coarse material

D:-All of these

Correct Answer:- Option-B
Question16:-Heavy set point is strongly blunted it is especially used for

A:-fine densely woven fabric

B:-button sewing machine

C:-sewing leather and laminated textiles

D:-All of these



Correct Answer:- Option-B
Questionl7:-Which among the given statement is correct about needle?
A:-Sharp point needle for leather
B:-Ball point needle for woven fabric
C:-Triple needle for synthetic silk
D:-Wing needle for detailed decoration
Correct Answer:- Option-D
Question18:-Spool pin holds
A:-The spool of thread
B:-To feed the thread to the needle
C:-Hold the thread in position
D:-All of these
Correct Answer:- Option-A
Question19:-Which among the given statement is correct about tension disc?
A:-To feed the thread to the needle
B:-Two concave discs are put together with the converse side facing each other
C:-Hold the cloth firmly in position
D:-All of these
Correct Answer:- Option-B
Question20:-Cord connecting the upper and lower wheel
A:-Presser foot lefter
B:-Presser foot
C:-Belt
D:-Needle plate
Correct Answer:- Option-C
Question21:-Basting stitch is started with a
A:-Running stitch
B:-Knot
C:-Two stitches
D:-None of these
Correct Answer:- Option-B
Question22:-What is the use of thimble?
A:-To protect the fingers from getting pierced
B:-To open or unsew the stitches in case of faulty stitches
C:-To measure the accuracy of embroidery
D:-All of these



Correct Answer:- Option-A

Question23:-Name the tool, it is used to cut the fabric to prevent fabric edges from
unravelling

A:-Pinking shears
B:-Micro-tip scissors
C:-Sneppers
D:-Shears
Correct Answer:- Option-A
Question24:-Herring bone stitch is a variation of
A:-Back stitch
B:-Chain stitch
C:-Cross stitch
D:-Satin stitch
Correct Answer:- Option-C
Question25:- is the basic needle most often used for hand embroidery.
A:-Tapestry needle
B:-Sharp needle
C:-Crewel needle
D:-Chenille Needle
Correct Answer:- Option-C
Question26:-The stitch use for filling is
A:-Satin stitch
B:-Back stitch
C:-Stem stitch
D:-Running stitch
Correct Answer:- Option-A
Question27:-In Punjab the embroidery famous is
A:-Chikankari
B:-Kantha
C:-Kashida
D:-Phulkari
Correct Answer:- Option-D
Question28:-The stitch that can be used to decorate edge is
A:-Blanket stitch
B:-Fish bone stitch
C:-Chain stitch



D:-Back stitch
Correct Answer:- Option-A
Question29:-Untwisted silk thread used for Phulkari is known as
A:-Rag
B:-Pat
C:-Bagh
D:-None of these
Correct Answer:- Option-B
Question30:-Choose the correct pair
A:-Kanta - Karnataka
B:-Chikankari - Pubjab
C:-Chamba Rumal - Himachal Pradesh
D:-Kasuti - West Bengal
Correct Answer:- Option-C
Question31:-Running stitch, Back stitch, stem stitch are the example of
A:-Looped stitch
B:-Filling stitch
C:-Flat stitch
D:-Knotted stitch
Correct Answer:- Option-C

Question32:-Which Embroidery needle is most suitable for French knot, Bullion
knot?

A:-Milliner needle
B:-Chenille needle
C:-Crewel Needle
D:-Tapestry needle
Correct Answer:- Option-A
Question33:-Which state of India does Chikankari belongs to?
A:-Madhya Pradesh
B:-Andhra Pradesh
C:-Uttar Pradesh
D:-Himachal Pradesh
Correct Answer:- Option-C
Question34:-Name the zari used in Banarasi weaving?
A:-Bukhia
B:-Badla



C:-Nllak
D:-Murgi
Correct Answer:- Option-B
Question35:-Kashmiri embroidery is otherwise known as
A:-Kantha
B:-Kasuthi
C:-Kashida
D:-Chikankari
Correct Answer:- Option-C

Question36:-Spinning of yarn means

A:-Denier
B:-Twisting
C:-Tex
D:-Pulling
Correct Answer:- Option-B
Question37:-The basic unit textile is
A:-Fabric
B:-Yarn
C:-Fiber
D:-Cloth
Correct Answer:- Option-C
Question38:-Which fiber is popularly called 'Golden fiber'?
A:-Cotton
B:-Silk
C:-Jute
D:-Flax
Correct Answer:- Option-C
Question39:-Sizing is a process in weaving.
A:-Cleaning
B:-Finishing
C:-Dyeing
D:-Preparatory
Correct Answer:- Option-D
Question40:-Surface ornamentation of fabric is called
A:-Fashion Designing
B:-Textile designing



C:-Designing
D:-None of these
Correct Answer:- Option-B
Question41:-In which device the finished fabric holds under tension?
A:-Cloth beam
B:-Shuttle
C:-Warp beam
D:-None of these
Correct Answer:- Option-A
Question42:-Flax is a fiber.
A:-Cellulosic
B:-Protein
C:-Synthetic
D:-Manmade
Correct Answer:- Option-A
Question43:-Caustic soda is used in process.
A:-Whitening

B:-Mercerization

C:-Cleaning
D:-None of these
Correct Answer:- Option-B
Question44:- is the oldest type of printing.
A:-Screen printing

B:-Block printing
C:-Transfer printing
D:-Digital printing
Correct Answer:- Option-B

Question45:-Process introduced into the spinning of finer and high quality yarns for
cotton is :

A:-Carding
B:-Combing
C:-Drawing
D:-Roving
Correct Answer:- Option-B
Question46:-Dacron is a trade name of which fiber?
A:-Nylon



B:-Polyester
C:-Spandex
D:-Acrylic

Correct Answer:- Option-B

Question47:-The ability of fiber to return to its original shape after stretching is

A:-Wicking
B:-Absorbency
C:-Resiliency
D:-None of these

Correct Answer:- Option-C

Question48:-Singeing of cotton is carried out to

A:-Remove protruding fibers from fabrics surface
B:-Impart luster

C:-Cut long threads from fabrics surface
D:-Increased pliability of fibers

Correct Answer:- Option-A

Question49:-Comparitively fabrics are dry very rapidly.

A:-Cotton

B:-Nylon

C:-Wool

D:-Jute

Correct Answer:- Option-B

Question50:-The main constituent of wool fiber is

A:-Cellulose
B:-Casien
C:-Reformation
D:-Keratin

Correct Answer:- Option-D

Question51:-Fullness in skirt can be achieved with the help of

A:-Pleats
B:-Gathers
C:-Both 1 and 2
D:-None of these

Correct Answer:- Option-C

Question52:-Why corners of enclosed seams for collars are trimmed?

A:-To reduce bulkiness



B:-To reduce fraying
C:-To strengthen the seam
D:-To reduce length
Correct Answer:- Option-A

Question53:-Darts, tucks, pleats and princess seams are considered as garment

A:-Shaping device

B:-Facings

C:-Closures

D:-Fabrications

Correct Answer:-Question Cancelled
Question54:-Front, hip, inseam and patch are type of

A:-Plackets

B:-Pockets

C:-Fasteners

D:-Buttons

Correct Answer:- Option-B

Question55:-In order to control fullness in apparel construction, knife and box are

examples of
A:-Darts
B:-Pleats
C:-Tucks
D:-Princess seams
Correct Answer:- Option-B

Question56:-How to prevent straining or tearing of long sleeve while bending
elbow?

A:-Add dart or ease at elbow level
B:-Clip the seam allowance of sleeve
C:-Avoid using long sleeve
D:-Cut with same girth
Correct Answer:- Option-A
Question57:-French seams are perfect for use on fabrics.
A:-Lightweight fabrics
B:-Medium fabrics

C:-Heavy fabrics
D:-All the above
Correct Answer:- Option-A



Question58:-Which seam is used on men's shirt?
A:-Slot seam
B:-Plain seam
C:-Flat felled seam
D:-Lapped seam
Correct Answer:- Option-C

Question59:-A shirt is being designed with many folded and stitched vertical lines
down the front. What shaping device is used?

A:-Darts

B:-Tucks

C:-Pleats

D:-Gathers

Correct Answer:- Option-B

Question60:-Which among the following term is used to refer double or multiple
folds in a garment?

A:-Gorge

B:-Pleat

C:-Dart

D:-Apex

Correct Answer:- Option-B
Question61:-Which pocket mouth can be finished straight, diagonal or curved?

A:-Patch pocket

B:-Flap pocket

C:-Bound pocket

D:-Front-hip pocket

Correct Answer:-Question Cancelled
Question62:-What is the full form of PS?

A:-Puff Sleeve

B:-Plain Sleeve

C:-Princess Seam

D:-Plain Seam

Correct Answer:- Option-C
Question63:-What is the name of pocket if used as wide lip piece?

A:-Patch pocket

B:-Welt pocket

C:-Flap pocket



D:-Inseam pocket
Correct Answer:- Option-B

Question64:-How to avoid bulge at corner or outer shape of pocket on heavy fabric?

A:-Cut pocket piece perfectly
B:-Notches should be given
C:-Give top stitch
D:-Strengthen the stitch
Correct Answer:- Option-B

Question65:-Which sleeve is cut as an extension of main bodies piece?

A:-Bell sleeve

B:-Bishop sleeve
C:-Kimono sleeve

D:-Set in sleeve

Correct Answer:- Option-C

Question66:-The color visible to the eye when any surface is viewed under light is
termed as

A:-Value
B:-Intensity
C:-Hue
D:-Tone

Correct Answer:- Option-C

Question67:-Intensity refers to

A:-Brightness or dullness of a color
B:-Brightness or lightness of a color
C:-Darkness or lightness of a color

D:-Name of a color

Correct Answer:- Option-A

Question68:-Which among the following are primary colors of the artists color
wheel?

A:-Yellow, Red, Green
B:-Yellow, Blue, Red
C:-Yellow, Purple, Red
D:-Yellow, Green, Violet
Correct Answer:- Option-B

Question69:-Yellow with Red-violet and Blue-violet and Red with Blue-green and
Yellow-green are examples for which color scheme?

A:-Monochromatic



B:-Analogus
C:-Complementary
D:-Split complmentary
Correct Answer:- Option-D
Question70:-Red, Red-orange and Orange forms which color scheme?
A:-Analogous
B:-Triad
C:-Acromaric
D:-Monochromatic
Correct Answer:- Option-A
Question71:-Which hues are known as advancing hues?
A:-Cool hues
B:-Warm hues
C:-Neutrals
D:-Vivid hues
Correct Answer:- Option-B

Question72:-Combination of yellowish orange and bluish violet comes in which color
scheme?

A:-Double split complementary
B:-Complementary
C:-Diad
D:-Monochromatic
Correct Answer:- Option-B
Question73:-How can you achieve higher value of a color?
A:-By adding yellow to a color
B:-By adding white to a color
C:-By adding grey to a color
D:-By adding black to a color
Correct Answer:- Option-B
Question74:-Which are the three dimensions of color?
A:-Hue, value and Brightness
B:-Tone, Hue and Intensity
C:-Hue, Value and Intensity
D:-Value, Intensity and Tone
Correct Answer:- Option-C

Question75:-Which color scheme uses only black, white and grey colors?



A:-Analogous
B:-Acromatic
C:-Monocromatic

D:-Triad

Correct Answer:- Option-B

Question76:-Pieces of fabric cut in geometric or novelty shapes to be applied on
another fabric with proper edge finishing giving a decorative look to the garment is
termed as

A:-Studding

B:-Patch

C:-Applique

D:-Quilts

Correct Answer:- Option-C

Question77:-A fold of a fabric sewn into a garment to provide fitting according to
the body curves?

A:-Tuck

B:-Dart

C:-Pleat

D:-Shirrs

Correct Answer:- Option-B

Question78:-An open work stitch or embroidery used to join hemmed edges

A:-Fagoting
B:-Overcasting
C:-Whipping
D:-Hemming

Correct Answer:- Option-A

Question79:-The allowance of space in a pattern to fit comfort and style over exact
body measurement?

A:-Spacing

B:-Baste

C:-Ease

D:-Sweep

Correct Answer:- Option-C

Question80:-A type of fold in fabric created by doubling the material back on itself
and securing it in place by stitches?

A:-Quilting
B:-Tuck



C:-Pleat
D:-Ruching

Correct Answer:- Option-C

Question81:-What is the basic stitch that creates a smooth, flat texture in knitting?

A:-Knit
B:-Purl
C:-Crochet
D:-Twist

Correct Answer:- Option-A

Question82:-What is the purpose of binding off (BO) in knitting?

A:-To start a new project

B:-To change yarn colors

C:-To create a decorative edge

D:-To secure the stitches at the end of a project

Correct Answer:- Option-D

Question83:-For which type of yarn is a size C (or 6) crochet hook commonly used?

A:-2-ply yarn

B:-4-ply yarn

C:-6-ply yarn

D:-Chunky yarn

Correct Answer:- Option-B

Question84:-What is the purpose of the casting on (CO) technique in knitting?

A:-To form the first row of stitches on a knitting needle
B:-To finish the project

C:-To increase the stitch count

D:-To change yarn colors

Correct Answer:- Option-A

Question85:-What fabric pattern is created by knitting one row and purling the
next?

A:-Garter stitch

B:-Basket weave
C:-Stockinette stitch
D:-Ribbing

Correct Answer:- Option-C

Question86:-What is the most common form of ribbing?

A:-Knit one, purl one



B:-Knit two, purl two
C:-Knit three, purl one
D:-Purl two, knit one
Correct Answer:- Option-A
Question87:-What is another name for mosaic knitting?
A:-Fair Isle knitting
B:-Cable knitting
C:-Intarsia knitting
D:-Slip knitting
Correct Answer:- Option-D

Question88:-Which stitch in knitting is compared to a turtleneck sweater in the
"sweater" analogy?

A:-Knit
B:-Purl
C:-Stockinette
D:-Ribbing
Correct Answer:- Option-D
Question89:-What causes a dropped stitch in knitting?
A:-Not casting on properly
B:-A stitch falling off the needle
C:-Knitting with too much tension
D:-Using the wrong type of yarn
Correct Answer:- Option-B
Question90:-What happens when you perform a yarn over (yo) in knitting?
A:-A new stitch is added to the fabric
B:-A stitch is decreased
C:-The fabric is pulled tighter
D:-The yarn is cut and restarted
Correct Answer:- Option-A
Question91:-What are the different types of pattern making methods?
A:-Flat pattern
B:-Block pattern
C:-Personal pattern
D:-Commercial pattern
Correct Answer:-Question Cancelled

Question92:- is used to create basic, foundation or design patterns?



A:-Drawing
B:-Drafting
C:-Both 1 and 2
D:-None of these
Correct Answer:- Option-B
Question93:-These type of paper patterns are available in ready-made form?
A:-Graded paper pattern
B:-Commercial paper pattern
C:-Standardised paper pattern
D:-Individual paper pattern
Correct Answer:- Option-B
Question94:-Which is called five piece pattern set?
A:-Basic pattern set
B:-Flat pattern
C:-Pattern size
D:-Paper pattern
Correct Answer:- Option-A
Question95:-Why grain lines are drawn on pattern pieces while drafting?
A:-To calculate fabric requirement
B:-Patterns placed on correct grain line of fabric
C:-Easy while drafting
D:-To save time
Correct Answer:- Option-B

Question96:-Which part of the commercial pattern explains about the use of pattern
and different pattern makings?

A:-Envelope

B:-Pattern issue

C:-Instruction sheet

D:-Size chart

Correct Answer:- Option-C
Question97:-Pattern cut specifically according to the size of an individual is called

A:-Individual pattern

B:-Grading pattern

C:-Normal pattern

D:-None of these

Correct Answer:- Option-A



Question98:-In fashion, when a cloth or clothing is loosely or casually wrapped on
or around something, it is called

A:-Draping

B:-Drafting

C:-Designing

D:-Pattern

Correct Answer:- Option-A
Question99:-Three methods that involve pattern making are

A:-Drafting and Draping

B:-Designing, Sketching, Draping

C:-Both 1 and 2

D:-None of these

Correct Answer:-Question Cancelled
Question100:-Which of the following patterns are available in the market?

A:-90 cm, 84 cm, 81 cm

B:-85 cm, 92 cm, 90 cm

C:-91 cm, 86 cm, 81 cm

D:-80 cm, 95 cm, 85 cm

Correct Answer:- Option-C



